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5410 HS0IA=¢ 2 13 15 9 7
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S=337 HE=237 U 2 ZA0 N 2 2 o = o

o | & = ZA0I&H(A) ZA0&H(B) HAC ) (D=A1B~C) (E) = °
4100 =24 987,608 126,800 1,114,408 1,181,025 £66,617
410 wRAES 381,744 126,800 508,544 507,534 1,010
4111 RES0 319,680 - 319,680 258,000 61,680
4112 A0S - - - - 0
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M2 HANS - - - - 0
4123 HAM+Y 52,704 - 52,704 66,583 £13,879
124 RAYUHDYZ 48,060 - 48,060 54,313 £6,253
4125 AIFQIAH - - - 18,167 ~18,167
4127 HAGRZ 20,000 - 20,000 - 20,000
4200 222 168,970 200,131 369, 101 411,813 £42,712
4210 AgzeH 198 62,721 62,919 58,575 4,344
211 A=S2H) - 22,000 22,000 25,000 £3,000
4212 ZH 22l - 6.868 6,868 5,300 1,568
215 NS - 1,080 1,080 2,800 21,720
216 2EHE - 4,002 4,002 7.062 £3,060
217 2AURE - 3,731 3,731 10,275 £6,544
4219 JIEtAI 2ol 198 25,040 25,238 8,138 17,100
4220 YEHBRIH) 168,772 99,680 268,452 316,278 £47,826
4221 OfHl RS H] - 12,720 12,720 1,320 11,400
4222 TR - 6.530 6.530 9,960 £3,430
4223 22| 522 9,960 10,482 13,488 £3,006
4224 QM ETHY| - 300 300 1,000 A700
4225 et - - - - 0
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4321 welHstg - - - - 0
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4324 == HAR - - - 0

4325 TN A - - - - 0
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4331 ALY - - - - 0
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4500 =3 - - - -
4510 =3 - - - -
‘4519 =23 82 - - -
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4610 ol HI Bl - - - - 0
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1220 SAAMA = - - - - 0

1229 JIELS AR MK = - - - 0
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1300 DAEXSHY K = - 150 150 75,698 275,548
1310 R DMLY X = - 150 150 75,698 275,548
1311 EXHHI - - - 0
1312 A =0 Hl - - - - 0
1314 21021200 HI - 150 150 71,696 271,546
1315 FIIHIS0H I - - - 4,002 24,002
1316 Ztgk2 B0 I - - - - 0
1317 =AFYH - - - - 0
1319 2&IHAHE - - - - 0
2200 DHEIIH e - - - - 0
2210 I3 are - - - - 0
2211 HIIXg 3 - - -
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S=2 42l (5100) 1,044,805 1,030,826 13,979
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-JIEt - % " -2 * - B = - 8
AH H 266,805,000
O CHst & b3 (&)
poetAE el 18 1659  » 2,000,000 ® = 380,000,000 ®
2oMEE K%Y 18 o« 224Y  « 2,000,000 & = 448,000,000 #®
A 3 778,000,000 ®
A 1,044,805,000 #®
Hel @ JI¥ el (5200) - - 0 L
He 38l (5210) - = 0
=83 el 3 (5215) - - 0
S 2|42l (5400) 2 = 2 #
AS 01Xt =2 (5410) 2 = 2
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O S0Ix
- ®B2H o= 0k = 1,808 ®
AN E 1,898 ®
A : 1,898 &
JIEH 1 & 2|4l (5420) - = 0
B =2l (5421) - - 0
DF XHatoR 2442 (1300) - = 0
R8I0 TAON 2 4=21 (1310) - - 0
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